

Bid 48-2022 Addendum 8 TRIBUTE CONTRACTING Supplier Response

Event Information

Number: Bid 48-2022 Addendum 8
Title: East Hickman Force Main

Type: Competitive Bid

Issue Date: 5/9/2022

Deadline: 7/21/2022 02:00 PM (ET)

Contact Information

Contact: Brian Marcum

Address: Central Purchasing

Government Center Building

Room 338

200 East Main Street Lexington, KY 40507

Phone: (859) 2583320 Fax: (859) 2583322

Email: brianm@lexingtonky.gov

Page 1 of 6 pages Vendor: TRIBUTE CONTRACTING Bid 48-2022 Addendum 8

TRIBUTE CONTRACTING Information

Address: 2125 COUNTY ROAD 1

SOUTH POINT, OH 45680

Phone: (740) 451-1010

ONLY ONLINE BIDS WILL BE ACCEPTED! By submitting your response, you certify that you are authorized to represent and bind your company and that you agree to all bid terms and conditions as stated in the attached bid/RFP/RFQ/Quote/Auction documents.

Todd Harrah	tharrah88@yahoo.com
Signature	Email
Submitted at 7/21/2022 12:44:25 PM (ET)	

Response Attachments

LFUCG East Hickman Bid FRP.pdf

Bid opening requirements, bid bond, dbe documentation and addendums.

Bid Lines

	u Lilic3				
1	Mobilization				
	Quantity: 1 UOM: Lump Sum	Price:	\$325,000.00	Total:	\$325,000.00
2	Bonds and Insurance				
	Quantity: 1 UOM: Lump Sum	Price:	\$578,000.00	Total:	\$578,000.00
3	General Requirements				
	Quantity: 1 UOM: Lump Sum	Price:	\$1,600,000.00	Total:	\$1,600,000.00
4	Demobilization				
	Quantity: 1 UOM: Lump Sum	Price:	\$11,000.00	Total:	\$11,000.00
5	Erosion and Sediment Control and Conformance with	SWPPP			
	Quantity: 1 UOM: Lump Sum	Price:	\$74,000.00	Total:	\$74,000.00
6	Line deleted as part of an Addendum				
7	Line deleted as part of an Addendum				
8	36-Inch DI Force Main (Open Cut), <10.0' depth				
	Quantity: 23523 UOM: Linear Feet	Price:	\$354.00	Total:	\$8,327,142.00
9	36-Inch DI Force Main (Open Cut), 10.1' to 15.0' depth	1			
	Quantity: 6615 UOM: Linear Feet	Price:	\$422.00	Total:	\$2,791,530.00
1	36-Inch DI Force Main (Open Cut), 15.1' and up depth				
0	Quantity: 90 UOM: Linear Feet	Price:	\$600.00	Total:	\$54,000.00

Page 2 of 6 pages Vendor: TRIBUTE CONTRACTING Bid 48-2022 Addendum 8

1	1 36-Inch DI Force Main Restrained Joint Adder				
1	Quantity: 2020 UOM: Linear Feet Price: \$353.00 Total:	\$713,060.00			
1	Tunnel at Tates Creek Rd (C-19): 36-inch Restrained Joint Force Main in 48-inch steel casing				
2	Quantity: 150 UOM: Linear Feet Price: \$2,320.00 Total:	\$348,000.00			
1 3					
3	Quantity: 150 UOM: Linear Feet Price: \$2,340.00 Total:	\$351,000.00			
1 4	-				
_	Quantity: 150 UOM: Linear Feet Price: \$2,200.00 Total:	\$330,000.00			
1 5	1 Creek Crossing at STA 1+00				
3	Quantity: 1 UOM: Lump Sum Price: \$26,500.00 Total:	\$26,500.00			
1					
	Quantity: 1 UOM: Lump Sum Price: \$11,000.00 Total:	\$11,000.00			
1 7	1 Polyethylene Encasement				
•	Quantity: 100 UOM: Linear Feet Price: \$10.00 Total:	\$1,000.00			
1 8	8				
	Quantity: 1 UOM: Each Unit Price: \$2,600.00 Total:	\$2,600.00			
1 9	9				
	Quantity: 18 UOM: Each Unit Price: \$12,200.00 Total:	\$219,600.00			
2 0					
	Quantity: 4 UOM: Each Unit Price: \$12,400.00 Total:	\$49,600.00			
2	[1]				
	Quantity: 24 UOM: Each Unit Price: \$12,700.00 Total:	\$304,800.00			
2 2	2 36-inch 90° Bend Fittings for Force Main	A			
	Quantity: 1 UOM: Each Unit Price: \$14,800.00 Total:	\$14,800.00			
2 3	36x36x6-inch Tee Fittings for Force Main	0454 000 00			
	Quantity: 14 UOM: Each Unit Price: \$11,000.00 Total:	\$154,000.00			
2 4	36x36x12-inch Tee Fittings for Force Main				
	Quantity: 1 UOM: Each Unit Price: \$14,000.00 Total:	\$14,000.00			
2 5	36x36x18-inch Tee Fittings for Force Main	ф47.000 co			
	Quantity: 1 UOM: Each Unit Price: \$17,000.00 Total:	\$17,000.00			
2	[6]				
	Quantity: 1 UOM: Each Unit Price: \$4,800.00 Total:	\$4,800.00			

2 7	18-inch Buried Plug Valve				
/		Jnit Price:	\$11,000.00	Total:	\$11,000.00
28	Type 1 ARV Vault				
0		Jnit Price:	\$17,700.00	Total:	\$35,400.00
9	Type 2 ARV Vault				
	Quantity: 6 UOM: Each L	Jnit Price:	\$27,100.00	Total:	\$162,600.00
3	Type 3 ARV Vault				
U		Jnit Price:	\$25,800.00	Total:	\$154,800.00
3	ARV Vent Stack Piping				
•	Quantity: 100 UOM: Linear Feet	_ Price:	\$60.00	Total:	\$6,000.00
3 2	Remove and Replace Manhole		_		
		Jnit Price:	\$81,000.00	Total:	\$81,000.00
3	Connect to Existing 30-inch Force Main (STA 306+5	54)			
	Quantity: 1 UOM: Each L	Jnit Price:	\$11,600.00	Total:	\$11,600.00
3 4	Cut and Connect to Existing 8-inch Force Main (STA	A 201+59)			
_		Jnit Price:	\$7,300.00	Total:	\$7,300.00
3 5	Cut and Connect to Existing 12-inch Force Main (ST	A 235+72)			
		Jnit Price:	\$13,500.00	Total:	\$13,500.00
3	Cut and Cap Existing 30-inch Force Main (C-43, Ke	y Note 4)			
	Quantity: 1 UOM: Each L	Jnit Price:	\$3,000.00	Total:	\$3,000.00
3 7	Demo Existing Valve Boxes				
•	Quantity: 3 UOM: Each L	Jnit Price:	\$100.00	Total:	\$300.00
3	Demo Existing Valve Vaults				
	Quantity: 3 UOM: Each L	Jnit Price:	\$2,000.00	Total:	\$6,000.00
3 9	Tree Protection			Г	
	Quantity: 1 UOM: Lump Sum	_ Price:	\$2,000.00	Total:	\$2,000.00
4	Clearing and Grubbing				
		Г			
	Quantity: 1 UOM: Lump Sum	_ Price:	\$10,000.00	Total:	\$10,000.00
4		Γ		Г	
		Jnit Price:	\$1,500.00	Total:	\$3,000.00

4 2	Line deleted as part of an Addendum						
4	Maintenance of Traffic						
3	Quantity: 1 UOM: Lump Sum	Price:	\$200,000.00	Total:	\$200,000.00		
4	Site Restoration, Method A						
4	Quantity: 5 UOM: Square Yard	Price:	\$12.00	Total:	\$60.00		
4	Site Restoration, Method B						
5	Quantity: 56630 UOM: Square Yard	Price:	\$1.20	Total:	\$67,956.00		
4	Site Restoration, Method C						
6	Quantity: 5 UOM: Square Yard	Price:	\$3.00	Total:	\$15.00		
47	Line deleted as part of an Addendum						
4 8	Line deleted as part of an Addendum						
4	Bituminous Concrete: Trench Construction, Street						
9	Quantity: 10160 UOM: Square Yard	Price:	\$74.00	Total:	\$751,840.00		
5	Bituminous Concrete: Private Parking Lots/Driveways/Public Path						
0	Quantity: 3288 UOM: Square Yard	Price:	\$79.00	Total:	\$259,752.00		
5	Portland Cement Concrete Paving: Private Parking Lots / Driveways / Aprons						
	Quantity: 10 UOM: Square Yard	Price:	\$200.00	Total:	\$2,000.00		
5 Concrete Curb Removal and Replacement							
2	Quantity: 250 UOM: Linear Feet	Price:	\$44.00	Total:	\$11,000.00		
5	Concrete Sidewalk						
3	Quantity: 100 UOM: Square Yard	Price:	\$80.00	Total:	\$8,000.00		
5	Remove and Replace 36-inch Storm Pipe						
4	Quantity: 1 UOM: Lump Sum	Price:	\$2,800.00	Total:	\$2,800.00		
5	Safety Fence, Extra as directed by Engineer						
3	Quantity: 100 UOM: Linear Feet	Price:	\$3.00	Total:	\$300.00		
5 6	Dense Graded Aggregate - DGA, Extra as directed I	by Engineer					
	Quantity: 100 HOM: Ton	Price:	\$25.00	Total:	\$2 500 00		

5 7	No. 9 Crushed	Stone, Extra as directed by Engine	er			
	Quantity: 100	UOM: Ton	Price:	\$25.00	Total:	\$2,500.00
5						
5 8	No. 57 Crushed	d Stone, Extra as directed by Engin	eer			
	Quantity: 100	UOM: Ton	Price:	\$25.00	Total:	\$2,500.00
5						
5	No. 2 Crushed	Stone, Extra as directed by Engine	er			
	Quantity: 100	UOM: Ton	Price:	\$25.00	Total:	\$2,500.00
6	Flowable (Cont	rolled Density) Fill, Extra as directe	d by Engineer			
	Quantity: 100	UOM: Cubic Yard	Price:	\$120.00	Total:	\$12,000.00
	Quantity. 100	OOIVI. Cubic Faid	FIICE	Ψ120.00	Total.	\$12,000.00
6	Line deleted a	s part of an Addendum				
6 2	Line deleted a	s part of an Addendum				
6	Line deleted a	s part of an Addendum				
6 4	Line deleted a	s part of an Addendum				
6 5	Line deleted a	s part of an Addendum				
6	Line deleted a	s part of an Addendum				
6 7	Line deleted a	s part of an Addendum				
6	Line deleted a	s part of an Addendum				
6 9	Line deleted a	s part of an Addendum				
7 0	Line deleted a	s part of an Addendum				
7	Line deleted a	s part of an Addendum				
7	Allowance: Mise	cellaneous Site Improvements				
2		UOM: Lump Sum	Price:	\$1.000.000.00	Total:	\$1.000.000.00

Response Total: \$19,155,655.00